AFiEMA
EHFRLEFAEPACKING LIST

=)=k oER

1,FESH:

I5: HW202301731 FERREE 2000kg

EEEEEY | THJ 2000 / 1- JXVF ERlA BRANET3000+—{A4L,
B/uk 7/7/7 HER:

HRR | 1900x2200x2200 FIIRT: 5P : 1600x2100
2, f85%53%:
e #R FEEH R |85 &
1 [FBESFE  |I=HE, B, HRBSHEHRLESR ]

2 KM |SRRE, MIKIEEE, BPE, SRR AN e

3 |FEtRAE  |BEMR, TR, (OB, B, VUBELE, e ]

4 |IwrsE Bk, BIIE ] F—AME
5 |48 |NERFHEZ, 1B, 25 ]

6 |SIEZEASIMEE, R, B, SHED, 182 s

7 |B5IH  |BSIHREHS ]

8 |IIHUE | WU MBI, 1Re e

9 |IkME  |BIEESN, 1B N

10 | =2 |FEHZE, SERTEE, SAK EEaEs

11 |FRLER | BRI IEH EEaks

12 |FTR | TR EEaEs

13 |t [N B, FE BRI R

14 3B [XEZR, WEREY, G, #ES EEaks

15 |FER |FEER, IR, B, @ik EEaks

16 {2248 |FiN224E, BRSNS R4

17 |MEHR  |XER R

18 |sthriEsR| S, EEEIES

RESMHE: 19 (&5

IR TREINF

HilR: Bexd B BeE: [t
ISR BR:
B E8:

B WEAERSEREARENVER. B4 FRFERN, NEERSEZAESATEARRZERIR, FIBAHNER. Mg 88F



Mo R B

7 B

RS HW202301731 Z/35/1] T/ 17 /7
PR THJ 2000 / 1- JXVF B A R~F 1900 X 2200 X 2200
AR L FIIHFRRRT DU 1600X2100
A | 75| iR -4 R 5/ 1 z K B [ 08 | & | A [ SR %
y KJE=2104
! H %}ﬁjjﬁ%éﬂﬁ: 16#@% ES: LRUR2M, AR bR RS 1 =
2 | H SR FrRAELE, B 170X 370, t=12 2 He REAE R
BB FrdEfE 300%310 2 1 10mm
3 | H R e A B I K BE=2020 2 = 2084
4 | 4k RS ®400-5-10-16 B, AEARIT A 4 A | ISR R
5 | 4b URAG 6%, 125 8 A | R R
6 | B i Bt P& K LX1910 2 e | elE R
(G R B A 145%180 2 £ | wEERAE
e o gt o % _ FELD-HC-L7, 4L
8 | H 5 K % v R PR K. L=900 2 A BE96x06
10| A R SEAE L K-pE. 1L=2850 B BRI, WATEZ | 2 % | BB AT
11| B SR il ©16 HiAf 4 £ | JEREE S L
12| B8 AL WE LEH. SRS B5: 1964 X IR2232 1 £
M S 0 Fft =982 0 4 AM
13| B T AT 63X 63X 63 B D16 FiAT 4 A E i
o 14 Q %}ﬁ‘l;‘g}é l}fﬂ;ﬂ 14#;]%% L=2104 2 1,:}: (%ﬁ%muﬁ;:gx‘%wﬁﬁ:
zé 5] B ZE AR 200X 260, t=12 2 He JEARTE
" — 24P A4L=2010X1100
6| H BRIP4 fic L4 2o BT 714X 1100 1 %= 1E37H
17| B BRI A S 4 TR 135X 50 X 50 4 ol R e 3
18 | 4+ & ER i 4 A | AR H
19| H B RLHAT @ 16HEFT 1.=2200 4 % | FESAC3AMERE
20| H iRy TR bR UE L= 400 2 £ | BRI
21| H TR T AR DB10-3 L=3000 1 % BephiE A
22 | H A BR AT AR S 4 BB K. 1=295 2 :
23| H 2 IR 2 S DB10-9 1 %= 7 P Ak
24| H T4 BB L=930 2 % | 26345, FFREITE
25| H FIHLAEAE 0 0 % 0
26 | H Uil A A ficT89-1/B, %3 FL75X75 H102 6% 5 L 4 A
o7 Ah o} 2 I AR 7 EMR s 2 A /N ER
Ak AR J7 REAR Fiats 2 A
QUosHiE R 4ot ey | JUVPELBURE < 3800KG Lt
28| o ZaH M;ﬁiﬁi%{?ﬁ%ﬁ;@iﬁk FUE : 1m/s , PUIH: 16 mm ! & 1&24F
29 | 4b AR RN B ih, MERATK: 1890 1 £ | MfE LR
30 | 4b P UKSTF e 37 48 1 1| e R E
B EERRL:
31| H J5 M EERR L=482, H=2200 2 14
32| H Ji HEEAR =500, H=2200 2 {4
133 H AT, JEEER L=305, H=2200 4 1
B34 A LR 1=500, H=2200 6 | 1. 5mm304% BeA
35 | H HITEERR , 1=82, H=2100 1 1 AN
36| H I RERR HRAR R A LI 1=282, H=2100 1 f:
37| H R 1=1964, H=100 1 14
[T 2% 790 1
38| H EP IR L63X63X6 =250 18 1
39| B EPRE L63X63X6 1=200 18 f:
40 | H EE NS L63 X 63X 6 1=1010 36 4 A%
41 | H LS TR W L63X63X6 =150 36 f:
= H N L63X 63 X6 L=155 36 1
l42] A BB S 4 163X 63 X 6 1=1780 18 I
H RHEFEHS L50X 50 X 5 L=100 0 1
H E ST 5mm =110 18 ff:
N - 5K/%, HE: 10 % N
43 | 4b LA SR T89-1/B S/, B 2 & 60 >k
F 1O e



M B K

T 5 &

H e HW202301731 =/35/17 T/ 17 /7
P S THJ 2000 / 1- JXVF B RS 1900 X 2200 X 2200
E IRk R FIIHFRERR T MRS : 1600X2100
AR |75 A £ W K5/ i Z e S Ko it o4 XA %
44 | 4 % 5 S TK5A gii ?é ;O _j 60 *
45 | Ak £ FHEEAR T89-1/B 10 4
46 | b Rl S PUEHR TK5A 10 1
47 | 4b FFEULD T89-1/B 102 H
3| 48| 4+ B EUEND TK5A 98 A
Wofag | s SRR 189-1/B 22 | e
50 | H 2% P R e K. L=900 2 M | mLb-He-LT, ALp96x96
53| H SR T89-1/B €= 0.5mm, 1.2mm 68 4 JEE
54 | H SPHRA TK5A &= 0.5mm, 1.2mm 68 1 J 55
55 [ 4b JETT S & EAA 4 A
56 | [ %of 28 1490 X 3400 1 £ | B HREH
57 | H X H A S 75X 60X 100 2 | BERofExT E A
58 | 4b T E R ®400-5-10-16 Bk, JEpR i A 2 A | FERCAEx B
59 | 4b UGG 16, =15 125 4 A | BeSUERE, 64
60 | 4k RS AR 715X 280X 80 58 | k115, 45kg/F
%t 61 | 4k Xt 5 13K #ertfE. B=17 4 A I H B
P 62 | H B 9 I AR L= 270 4 1 | JEReAEx) S
63 | B ot B R R4 bt 2 £ | e Ey
64 | H X E R 270 X 340 2 A | SEREXT R
66 | H X E ESR 1650 X 1220 2 f: 5
67 | H o 5 017 L X1220 0 ft R
68 | H X SR S R L= 390 8 %%
69 | H PEEEKE 6478, 1=3000 0 %
70 | b L s e LD-HC-L7 2 A
e 71 | 4 ) E e LD-HC-L11 1 A
S bRt 4 1t
72 | H JRYTERE g H=1500 1 o
B BWEHE : 1 m/s
g 73 | 4k PR 2% XSG608 H Bl PR 5% W% . ®8 mm 1 %= Pl kg
BCHHZ JO 13k B8 2% B 12 i Jie
4] H R AR PRkl L=300, H=80 7 1 s il
.| 75| H RO %3248 |DB10-8 L= 375 4 g |FET8OL/BCETEH
i B
=2 H R R BR 22 2 SR PRt L= 390 7 % BiT89-1/B
76 | H PRI K 2235 % H:1900 0 %
H S K10. 3 FLEE: 110 4 fF
80 BRI 20 Sk b s =650, 168FH4NH 0 %%
81 | 4b EX A 8%19S+NF-10 HiZ: 10 685 K 137K X 5%
| 82 | 4t [RIg 2 A 22 2 8%19s+PP-8 Hiz: ©8 63 K 634K X 1%
7 | 83 | 4 ok @8 6 A
4 | 84| 4 4L A ®10 IR 307 | 10 1=
81 S g% il L AR 0 0 £
85 | 4b B 1ENE 1 =
#E: 1000kg HE: 1m/s
o 5] 125 .31 L GTHOS ﬁggﬁég ”Jﬁ'llog’v' Lo | & | wamiEcTios
5| . ©400-5-10-16
Bl 87| A FHLZHER B L=700 1 1 | 208484, AL
88 | H BN, AT ESEAR | IEbRH A, 26— 570X 275 1 £ ] Q235 t1650HR
89 | H RHEL e E 180X 250 2 1 | Q235 t104M4
9 | H RHE2 |2l 130X 250 4 1 | 0235 10404
91 | H 3 A B 1] 130 X290 2 1 ] Q235 t104W#R

2 eIt




M B K

T 5 &

PR E HW202301731 B/¥/17 7/ 1 /1
Emils THJ 2000 / 1- JXVF BRI R~ 1900 X 2200 X 2200
EFP &K A FITA AR DU - 1600X2100
A 75| bR % W Fe 5/ Z K B 25 07 | | ks [ SR % I
89 | H A 3 K. 3200 288 T M —4, MAL | 2 s B 1
90 | H CH I 22 KE: 3200 208184, HofL 2 G b 1]
91 | H k] THE 14#bFEEX 1L=700 2 1 14#b 4
91 | H EERroy) T 14#bFE4R 1L=400 2 pid 14#b R4
92 | H PR 5 %2 2% s i), brdEE O8N 4EFLER: 240 1 s L=575
;!i 93 | 4b RAE CRAD R 2 e ®400-5-10-16 2 o
L H | x%A# GFRD 81, 2 S 2 Jix
95 | H JRake D 14 PR 130%174 2 1 4mm#fT 25
9 [ 4k Jx 4k (W E)D kgt Ebr i A ®400-5-10-16 1 A
97 | H JR4REE () R E s 1.=450 1 1
98 | H RApEe M ED P44 P MW 1=424 2 Vi 4mm#fr 25
95 | 4b UZLTS 165, #5125 6 A | FESURRE, s
96 | 4b AR SR AR By 753000+ &AL, 1 £ 15 kw
b ZAFRIN 1 £
A UCMPHR MCTC-SCB-A1 1 = TRMICI
97 | 4k BEATHLZE . FUHLYE FEiE M. 29.1 K 1 S CACE T
98 | 4b PV INE PN 4 ™
99| 4k HIRAEA T 2 FELYR B AL 1 £
;Ji 100 4p By LGS/XC-001 7 /7 /7 | 1 =
z 101 [ 4b | Buhishes G LGS/XC-001 FHEHICF 1 A
g | 102] 4 R AT £ LGS/XC-001 5 A
103 | 4b Tk ST & LGS/XC-001 1 A
104 | 4 JRYURAE 1 ™
105 [ 4 YL 5 T HE B AT 220V / 40W 2 A
106 | 4 oy 2 ™
107 | 4 2R I e 2 A Ll
108 | 4b FHL 0[] 7 L=1000 /% 6 %
109 | 4k VLN AR I 15 kw 1 A 100A
110 | 4k HEGAR AT IR 4TI 220V / 60W 1 A
11| 4 FEE T AC220V 60Wiy 4 = 6 A
112 4k | JRUKSHF 2 1 AN
;'% 13| 4 LA RIT % LX29-7/3 0 A
e | 114 4k BT 220VHIAE: LEDAT:1020X40 [ 2 =
1”4: 4 AT 4k 5004500 0 £
115| 4k H R HE AC220VEEFDC12V 0 A LEDXT HH
116 | 4b FRAZITF o= (1370) 4 A
Ah PR AR 1 ™
117 4k 17 1 £
118 | 4b R R [ 7% HD/BRB 1 i
119 4k = B s A 40 5 2% BVARFRARTA - 10 mm? 45 ES
120 | 4 =P EL 3X0.75 mn? 20 K
121 4 2. bmm“ LR Hh 2k 15 PS
122 4 10mm2 3% 4 4 15 K
123 4 P 6 FLR M 428 B i 2k 0 K
124 [ 4b 5] 80X 60X 1. 2 5 %
125 | 4k LAEIERAR 10 f
B [ 126 ] 4 SIEWE K, ©30 8 DS L5
e 127] 4k EERE R, 010 7 pS JFiE
(128 4b W Rk ®30 mm 4 A
29| 4k ek ®10 mm 14 A
130 4 R D13, B3 6 K| RMELH
131 4k R K ®13, 90° 10 A
132 4k Je LA 200mm 200 %
133] 4k AR L @6 mm 204 IA
134 | 4 L eAR 3 5
135 4 FRLRIE (M) 31 A
136 | 4b LH (KO UT10-6 20 A
137 4 £KH UM SV1.25-3.2 40 A



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M R Ok BB B
PR E HW202301731 B/¥/17 7/ 1 /1
Emils THJ 2000 / 1- JXVF BrRA RS 1900 X 2200 X 2200
EFP &K A FITA AR DU - 1600X2100
7S] bR 2 K Fe 5/ Z ok | &% 0% | B0 A [ S % IE
138 H Ja TR 337 X 1964 1 1
139| H HH AR TR 500 X 1964 2 P | FFLEDIT 11020 X 404#7L
F 140 H TR THiAR R R R 500 X 1964 1 1 FFETEIL
141] H B THAR 337 X 1964 1 4
5 DY Rk -
142| 4 FFIIHL FITHIEI600X2100 | &: 117), 96tk Fogsaeds| 1 &1 B, ony-2024
(A AT 1) fRE, ’
144 H B9 IR S 1700 800 1 i
ﬁ 145 B TH IR 963K KB 1L=2250 0 1 FIHLER
146 | H B G bRt KJF: 1=480 4 2%
147 H IR 43 DU 51600 X 2100KK 35 L=425 H=2115 2 BRI 181182
148 H BRI TRk SR oyl E: 1600 KRE: 1L=2250 1 % | Q235 t4dr7s
149 | 4k BiRANFEE O 917A61-AC220 1 z e
1 e WRZE, m
150| 4 B3k JRTTRIZI600X2100 | 4 o oot . bttt | 7 5. 00k
53U B 202A (96)
155 H Z1TIR 1. 5mm304 R SN L=425 H=2115 14 [ BRIT. 1B TR2E
H AR FritEfE 2065 7 R IR AT
156 | H I TEREG 1. 5mm304 K SN B=50 L=1720 7 % 0
H RESRA =S 1. 5mm304.5 LA B=50 H=2120 14 {4 0
157 REAES 1. 5mm304Kk AN 790 7 %
H I 1A (M%) 1. 5mm304 K& SIANGHH B=50 H=2100 0 {4 0
H I 1E T &R & 30X 75 0 1
= [158] & B ek skt 0 1 ELial
U s 1 EIRIRE A - 0 % | kAsE
160 H T 1718 0 7 i
161 | 4k 21 THIIR KB 2510 7 %
162 H 2 TR B KFE: L=1800 7 = WA
163 H TR B Pl 1700 X 400 7 4
164| H FEIEH R TR 3 K LK%
165| H FEIE YR AN 304449 9 % 14K/ %
166 | H LR AT t0.5, t1.2 64 f: JEL 2
167 H RO t0.5, t1.2 64 1 JEL 2
168 H 2T HbIR A il £:500 35 A
169 | 4 SEH LD 5 kg
170 | 4k FAT K 2 kg
171 4k T 1 kg
172 4k WA 3 kg
i) 173 4 BRI 1 =
B[ 174 A RESRE ®8 mm, L=1000 0 %1 .
5 ] ZE>20mm, KE200mm, EEEE>3mmILLE 42 pp | T TVEEE
175 | 4 HUEE! g 2 i
176 | 4b o e 1K © 44 22 4% 2 %
Tra 2SR T IRRY Y B =
179 4 FMERE HAZ$ 10 27 % 0 %
180 | 4k AMERE S B E BHRKE, L=1760 0 f
181 [ 4b |AMEHES 3 E 2SR L=510 0 1 S FR
YR LT T 1K © 842248 0 %
= N 1
= Z{ MR R R Zﬁn% 8 n
185 | 4b URIED (M12, FLEET2) 0 & ikt
186 | 4h of #2244 QJ 1053k 2022 44 e SRR LA 0 £ | XTEHIE: 1526

B4 0 JE6 T




— AY AY \
B H HF kK BT E B
e HW202301731 B3/ 7T/ 1 /7
e THJ 2000 / 1- JXVF R R~ 1900 X 2200 X 2200
P2 2R IR K R~ BV - 1600X2100
Eaa lhies [ A K=/ PR il ol N2 Dol =X 02 &%
1| RS S T2 EE ML6 X 55 BoTH, gk, WBRE Al [ 30 = | 8.8 HAM
2 SRS R% B F M16X 50 Bo T3, B 2R} 0 = EE
3 |9 DR, e PR M16X 70 [N - N S R O £
4 | ERERY E. THREE m2FE M8 X 25 AP, spE, iBR) 16 £y
5 | BREGES R AT PR M12X40 [V N N 0 = L2 T2
[ BRI = H2FE M8 X80 R N N £ NS £
7B E 2R M12X90 AP, B, BB} 2 £
8 | MR AR P24 M12X 45 AP, s, BB} 20 =
9 (MRS PR 4 TR M12X 45 il P, B IBR) 2 £
10 [[THL 48 5 fit PEAE M12X 45 Br-pa, spE, A} 2 =
oL (TIN5 IR S e 2R M12X 45 AP, B, Bk} 4 £
12 [TIHLTSL S TP S 4 BERE M12X45 Br-FH, B, IBR) 4 £
13 | RS kE IR ML6 X 55 AP, s, Rl WERE | 24 £ | 8.8 kM
14 [ PRI ERE PR M12X 45 BOoT3h, Rl gk, WERH 12 £
15 | PR S 22 44t T2 EE ML6 X 60 R - NN E N S £
16 [ AR SRATHE . AT PR M12X40 BOoT3h, bR, sk, WERH 12 £
17 | Fi AT 5 Hi AT HZRIM16 Br2 X P, gidh, 3XUERE | 0 £ L2 it
18 |PiAF 5HATH IEFE M16X90 Br-FH, B, BB} 4 1=
19 EaER P24 M16X 50 BT, JrRHEs. TRk WERH 14 =
20 |JEAE S Hh KA T2 EE M16 X 50 R N e N N I £y
21 | BT HR S b R4 B2FE M8 X 40 BV, Al ik, WERH 5 £
22 |# 5 5K, IS 12k M12X40 Br-f4d . spEk. mREE 4 £
23 | BERR SR B2FE M8 X 30 BrFH, B, IBR) 54 £
o[ 24 [BedRIER: I M6 X 20 Bo T3, By, 2R} 152 B ERIEYZ GRED
B | 25 |UBERR SEHGE IZEE M8 X 20 [ N N5 6 £
26 | BERR 5 R THAR B2k M8 X 30 [ N N 54 £
27 [FERSE E OKEED) KIS M12X 120 AR, B, ke [ 116 53 sk
28 [FERY[E e (REHE) FHGIEAE M12X280 | SOCP#, FIamE iBEE | 78 a
9 29 |k E: BERE M12X 45 Br-pa, s, BEh) 82 =
ﬁ 30 [ EHUE PEAE M12X 45 [ N N 130 = 13K
31 |RlEUERS BERE M12X 45 Br P, gpEe, BEh) 82 = T5K
32 | EPUEER PEAE M12X 45 Br-pa, g, BEA) 90 =
33 BB ERR H2EE MLO X 30 AP, B, IBR) 90 £
34 | XEES RS IZFE M8 X 25 BPHs, gk, b} 8 =
35 | WEASTTE 12 M8 X 25 Bo T3, B 2R 8 £
x| 36 [3FEEEEE P2 M10X 40 BiFH, B, BB} 4 E | RSO HUE”
B[ 37 [ER S E G H2EE MLO X 30 [ N N 16 £
38 |} E G5 AR I2FE M8 X 25 Br-FH, B, BB} 8 £
39 [ EP R SR P24 M10X 25 [ N N 24 E
Jbt| 40 |ZErhas 5K KIS M12X120 Br-pa, s, BEh) 12 =
AR 41 | PR AR 5 R A H2FE M8 X 25 [ N N 4 S
Ry 42 | BRIE S [ 5 KR M10 X 80 TR E . B, 2R 0 % A g
43 | BRBR 22 8 5 R 57 48 B24E M10X 25 Br-pa, gpE A} 12 =
e | A4 WRBR SRS SR 12K M12X 45 Ao, #adk, dRR} 12 o T13K
T 45 R S HZ M6 X 20 T, Bk, gy | 7 =
46 |BRRIRCC IR S S8R P24 M12X 45 AP, gk, iR} 14 = T13K
47 |95 EYLAE M20 X 110 o BB R R | 4 = 8.8 %
By | 48 | EHLER S sy E BERE M8 X 25 Ao, #dk, dRR} 8 =
2| | 49 = IIHUBH [ e IR M12X 100 ARG, B, R | 12 % Ol g
Ml EEIDIN R R M20 X 65 FFGTE ], B, 2R} 0 Fa 8.8 %
50 | EHE S A ER BEAEM16 X 45 BRI, PR WBRE [ 0 = 8.8 %
51 | ilkE & R IZ A M10 X 80 ARG, B 2R 4 3 WIE A 5
52 |FFiE M LiIE & JKIRET 4X40 137 ¥
- 53 PerJT IR & H2 4 M6 30 WiETHE ., ., R | 8 i
Zo |04 | BT A WAt M8 25 ORTHE, W 85 | 4 #
55 |JEIURLIEAR [H 2 [N BE RS M8 X 80 5T, Bk, 128} 4 % A E A 4%
56 |AEERE JEZKIZ A% M8 X 80 AL, B 2R} 4 3 WIE A 5%
57 | FLAE AR ] JEIKIEAS M12 X 100 TR E . Pk, 2R 8 53



Skyfree
Skyfree:
114轨用M16X55


R BRE

B

e =2 HW202301731 B3/ 7/ 1 /1
Emis THJ 2000 / 1- JXVF R A R 1900 X 2200 X 2200
EF &K A FITARE R DU - 1600X2100
e lades e VA K5/ RE Z W ok | 5% 0% | B0 FE A [ S % IE
58 [HLp HLIEAR [ 2 JEAKIERE M8 X 80 ALFEFHE . Bk, W8} 4 Fa Wil A 5%
59 [MERIR A 2 JKIRET 4X40 98 pa
60 [ ZRUKSTFK[H & 7 U8 M5 X 40 ALFETHE ., SR, WERE | 4 £
prae| 61 | T o & 5 S M5 X 40 A5 . saah, HEE) 0 =
FEfF) 62 |f2 i E3h F 23 B F E JEZAK I8 M8 X 80 AFEF . Bk, W8} 0 Ea W %
63 | ML L [E & JZAK B8 A2 M6 X 50 AFEEHRE L BRE R | 25 3 s 5
64 |BL5 etk 2 M6 X 25 40 =
65 | et 7 il A2 MAX 10 60 b
66 |1 TS 2 A flR P2 M10X 25 it P2, gl 0 £
67 |1 IHLCE SR RS IZHE M10X 30 [ N N S 2 £
B[ 68 | B I IR S5 e B M8X 25 P, i g 6 £
69 |I 1B 51T = BZHE M10X 25 [ R L 0 £
70 [F IS SR A% M8 X 25 fil P, i g 6 £
71 |I1ER JEZ K BEFEMS X 100 AFEFHRE L BRE B | 42 1=
72 BTS2 T3k 12 M10 X 30 A HE, s, R | 42 S
73 |2 1750k Sk B2 FE M10X 30 T, s 28 £
74 |1 1ER B2k M8 X35 B P, g WA 24 £
EIT| 75 | Mok B2KE M8 X 25 ALFEFHE . HE 59 £
76 |HIRFEZR %% JEZRKCIZARM12 X 120 ARG, BRI B | 96 £ T4k
77 (1R S 12 M10 X 30 5T sadk, WEE) 0 £ W
. s H g2z M5.5X 19 20 1=
78 [FEYR e dE LI FNS X 100 0 =
79 |BhE R R Ay 4[5 S B 22 M6 X 25 AR IR 18 £
80 |1 b 51 b 2o gf;;ﬁ;f(a ChiRE N - E ]
81 | PR S 2 T TR T 2o s PUSkIEHE M5X 15 R THE ., s 40 £ ZI
82 | ¥R S R I T IR IT R e 3 PUkIEM M8 X 15 AR B 10 E= i
o B R 550 B e BERE M16X 60 BT, FRIER. B, ERH 0 £
A e R v B2HE M6 X 35 ARG, BRI BRE | 122 £
ISR IR 1B M5 X 50 ARG THE ., s, R | 32 =
6 e m




